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TEST NUMBER TWO FOR MTH102 SPRINGO007

AYMAN BADAWI

Na‘n‘d‘: T N = Q?ssm —————, 8core m e

QUESTION 1. (25 points) Let f(z) = (x — 2)e® defined on the closed interval
10, 4/.

(1) For what values of x in the interval [0, 4] does f(x) increase?

P~ £ 4+ (x-QeX = o L(X\ increases over [, ﬂ
ex<l + Xx-2) =

foral
@X (— l + ?\3 =0 Q?:&\M Phor
-l+X=0o t““‘“~—+\‘-\++-44‘1
| ; o
iNnc ud.cA
Rlol._ 9 in Co 47 Flosy F'Q)
. =T é‘((—wo.s) e* -1+
= (- =(+)

(2) For what values of = in the interval [0, 4] dnes f(w) decrease? . e,

&) olec reases e mJ_' 0, 17/

(8) Find the absolute mag.of f(z) and the absolute min of f(z) on [0, 4].

X D
o <2 / !
=939 &—A‘ose%&. My

Y (69,19 a Ao Max /
+ Aoz Mewx ag g(x\ 5 1099 af x=U

¥ ppsshle Mun of 1) is -23R e x=|
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QUESTION 2. (15 points) Find f'(z). DO NOT SIMPLIFY
(1) flz) =3ze™" 4723 - 10 y= X l =3
Y ISR

. F’(X):5e“15y)(?‘ _ \/f, v'=€

(2) f(z)=in(z®—-Tz)

I o
Fi(x). 2x-%F / z
X2 -Fx

/"jf 67 . '5)

,pq ?x? .
* (3) f(z) = 3% 4 logs(Tx — 5) ,gna f . LL
2x-) .
P = J’n5 3.4 . 3:_.
ME I

QUESTION 3. (15 points) o)Find ' for the relation wz% n(y) +e? =22 =0

2&ﬂ* xﬁ I é///2x/;o : .,
3 |
Xyl 92 9x X - 2xy

y(x-'/w—zx eX-axY

b) Pind the equation of the tangent line to the curve z% — ¥? = b at the point
(3,2)

- I _ I V-
2 ijj =0 tUuﬂ)— 2 i

X = 233‘ % (3,2) ' 121503+ b
\ «99%‘= -9 = 15(x-3)

Vb= -25)
Y= hSX-U5+2

=%
¥-2
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QUESTION 4. (20 polnts ) work the followmg integrals:
o [ 6z%(z —I—l)12 de

3X

2/5x" (x4 \)'&Ax |
(x3+\) e = '(&‘5) (x3+|)'3+

e f—r—— |
= flwi+c ﬂuf_’fzf ___________________
= Un[x23x-¢ | = (]
b g
iy or o [t dx_sxe 5Ae+6x€,+

J'/adbg-x

Dnu:%‘@‘ <4>fln(\/5) dr = yv - J\/du

_ u=ﬂ'n<¢z> dv=dx = xh(®)- [X. T
= A“"—A"’_‘—Ax V=X ny?n(r)——Q— +C
L du

NF =
)‘ f :13-!—3 dx('EXTRAsPOINTS) Uy — fvdb(
L = (¥3)

_(,@-a U= In(x+3) Au Ax /‘l\— X S [x+2) - j Xe o
CJ\A: xl_sAx \):—X M -—XQH(X«”"Q—-\)&“WS\* y ‘(X-t?)\dx ‘

, [ )
X . i el
Jx—r?) =2 s St
u= x" AV;%dx j(') Iaiw 3)\\3.,\\"‘\

- cus ,iA* -2 Qi3 \Df
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"QUESTION 5. (10 points) 1. Bvaluate fO 3.’L‘2+1 \/ 3 -I- T —2dx

= (><+x-g) ” T
J 2 (22 sjﬁ/?/ 2% %) - 2 (i)

2. b’valuatej et dy :./%(w)—%(ﬂs)—_\o-l\

- €x+l _e e Ll@"]—

(1) Find the elasticity when p = 8.

F— —PF(p) £'(4)= —'0 | :-l.lé
fFp '

F‘_' 10) . F(Cﬁ): QOA-J%—%-:- |SQ§
(%)= =555 = 0] = Daraed i inelaske

. (2) Write the revenue in terms of p, i.e. find R(p). -
RQD): P (204 .IPQ -p) = Op+ o —p* \R(w—. 20p +10 —p*

lop™- . '
’OP QUESTION 6. (15 points} Let = be py er g, umts om o Product A, and p
be the selling price per unit. G’wen ’ 0 1
TP

(3) For what value of p does the maxzimum revenue occur?

R'(pV= o= 20- Qp =p 0= 52\3 =5

pP=1o

R“CP\:‘ -2 40 - Mox />/

. 4 ﬁl -
ROO): Q0+ 10 - 160= 1D —MO/R'(”)

Moximum, Qeoenue occurs af (10,110)
A . # HO at .




